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VCVS Gain=1
Resistor =1 0hm

Stimulus =1 Vdc +0.1 Vpk_SOOMHZ
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Neither of these circuits will give correct results because the
port connection between S1 and S2 does not form a loop
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VCVS Gain=1

Resistor
Stimulus

Nd1lp
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Whether the reference terminals of all ports are connected together is not the question...
Both of the above circuits will give correct results



VCVS Gain = 1 N
Resistor =1 Ohm
Stimulus =1V, + 0.1V, soomH:
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DC path to ground (node 0) must be
known for SPICE-like tools
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VCVS Gain=1
Resistor 1 Ohm
Stimulus =1 Vdc +0.1 Vpk_SOOMHZ
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Connecting the “common reference” of S1 and S2 to
different nodes will give incorrect results
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VCVS Gain=1
Resistor 1 Ohm
Stimulus =1 Vdc +0.1 Vpk_SOOMHZ
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=1V, =3 Vyc

+0.05 Vp,_goommz +0.05 V¢ 1300MmH:

Non-ideal power modeling implies noise on the
“independent” reference nodes
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VCVS Gain=1
Resistor =1 0hm
StimU|US =1 Vdc + 0.1 Vpk_500|V|HZ
Ndlp Nd2p Nd3p Nd4p
Plp\ Sl /P2p
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DC+AC
= lvdc

+0.05 V,_goomH:

Solution 1 for IBIS: Require all reference terminals to be
connected together (not to node 0)
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VCVS Gain=1
Resistor =1 0hm
StimU|US =1 Vdc + 0.1 Vpk_500|V|HZ
Ndlp Nd2p Nd3p Nd4p
Plp\ Sl /P2p
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=1V, =2 Vy. =3 Vyc
+0.05 Vi s00mH: +0.05 Vi _1300mHz  + 0.05 Vi _1700mH:

Solution 2 for IBIS: Require the reference terminals of
touching ports to be connected together (not to node 0)

ViMdlr)
ViHdlp)

Wi d3n)
WiH G

V(M d4n)
V(M ddp)

0EH 10W 12H 14N 16N 18H 20N
Tine ()




